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POLYCET - 2014 | C
Hall Ticket - Signature of
Number ' the Candidate |
Time : 2 Hours Total Marks : 120

Note : Before answering the questions, read carefully the instructions given on the OMR sheet.
BHod srme @dobs Svoth OMR sorm SH@iné® aspds rdsed aydm S5s08.
SECTION - 1 : MATHEMATICS

1. Inatriangle ABC, #A=90", AD L BC,ifAC= 1043 ,BD=5; DC=x, then the value of x is

ABC Btousns® Z4=90°. AD L BC ., AC =103, BD = 5: DC = v soms x Dens =
(H 15 (2) 10 (3) 20 4) 53

2. IF(1,2),(=1,4) and (7, k) ar¢ collinear, then k=
(1, 2), (=1, 4) bctn (7, —k) o 58DSrwond k Dens
() 1 (2) -l (3) 2 4 4

3r
3. Theslope ofthe line which makes Y with the +ve direction of x - axisis

ir
x—m&_ﬁnﬂ‘ﬁﬁ&iﬁ*‘:ﬁ‘mﬁniﬂﬁﬁﬁ#ﬁvﬂmr

(1 2 -l (3) 2 (4) 3

4.  Thenature of thelines 7x + 5y +6=0and 5x - 7y +6—0 is
Tx+ 5y +6=0%8aw 5x— Ty + 6 =0 Bpw

(1) parallel. (2) concurrent
Hamosore) bs Bpen

(3) perpendicular (4) None
won g 2D
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5.

The equation of the straight line parallel to 4x + 3y + 5 =0 and passing through (1, 1) is
dx + 3y + 5 = () g S%rodstumr dotye (1, 1) Dothd Homr HFdh H5¢ Ty SdEsedn =
(1) dx+3y=7 (@) 3Ix-4y=7 (3) 3x+4y-5=0 (4) 4x—-3y-5=0

The triangle formed by (-2, 2), (8,-2) and (—4,-3) is
(-2, 2, (8, —2) Hbcw (—4, —3) DotHHos® DG |Bedado

(1) scalene (2) isosceles
DS erdv (Bebasi BB (Bebesn
(3)  equilateral (4) nght-angled
S (Behadn vonlin (Dehasn

The centre of a circle is (0, 0). If (3, 2) is one end of a diameter, then the otherend is
Sys Bolddsm (0, 0). HE st Ak el D58 Dot (3, 2) wand Bokd D50 Doth.

1 1
(0 S3.-2) 2) (3,-2) 3) (3,2 (4) [5'5]

IEA(=1, 3); B(-3,7); C(1,~1), then A divides BC in the ratio
A(=1, 3); B(=3, 7); C(1, =1) ©cn8 BC 2 4 2¢80% 258.
1y 1:2 . 2) 3:2 B) -2:3 @) 2:1

4
The equation of the line passing Uuough (—1,-3) and subtending an angle 3 with x-axisinthe +ve

direction is

X - wE5ws* &% 8I6° %MM{—L-S}WH@M:&&M=
(1) x=V3y=3-3 2 VBx-y=0

(3) x-3y=0 @) Bx-y=3-3

SPACE FOR ROUGH WORK / 0&598 Btrovodeds apeiim
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10. The equation of the line passing through the point of intersection of the lines 2x +y + 1 =0,
x—y—7=0and the point (3, -2) is

2+y+1=0,x—y-T7=00 potfs Dothy Hdain (3, —2) oo b Tyr HoEbeie
() 3x+y+11=0 (2) 3x-y+11=0
(3) 3x-y-11=0 4 3x+y-11=0

11. Theangle between the lines joining the points (1,~2); (3, 2) and the linex +2y—7=0 s
(1,=2); (3, 2) o s0dh dp meaw x + 2y — 7 = 0 dyo S5y gtﬂm: .
T T P -
(1) 3 (2) 5 (3) 1 (4) 5

12. The area of the triangle formed by the line xcosot +ysino.=p with the coordinate axes is
Mrsegod® xcosa + ysing = p Bp G5 (Behe Peoge.

2 2 2 2
p P P P
M sin o @ cos ©) sin & cosa “) 2sino cosa
13. The points where the line x =my + ¢ cuts x and y axes are
x = my + ¢ Sp Drdegosh polod Dot
c ¢
nﬂ P ﬂt_- nt ¥ _iﬂ
M (e )[ m] @ (0c) [m ]
[ [
-—.0 1(0,¢ ,—— 1,(0,0
3) [m ]( ) @) (c m)( )
14. Ifsm&+t&nﬂ=p—_l,then cosf=
p+l
smﬁhtanﬂép—_l wood cosf=
p+l
2 2 2
p+1 p -1 l-p
(1) P -1 (2) p? +1 (3) -1 (4)  2secd

SPACE FOR ROUGH WORK / 0&508 Stronodads Fodn
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cosA |, 1+sinA_

+ -
L3, l+sinA cosA

(1) 2cosecA (2) 2tanA (3) 2cotA (4) 2secA

16. Ifaladder 20 m long is placed against a vertical wall ot height 10 m, then the distance between the
foot of the ladder and the wall, the inclination of the ladder with horizontal are respectively

20 m rEH Ko IS KD 10 m &S eeB3enods, AE eibrb griin IS wbrd s S5
Erddn HBa DHH 0= Sdrosd Jpd® Sdin Emdn Stdm

(1) 1043m,30° (@) 53m,30° (3)  2043m, 30° (4) 2043m, 45°

sin (90 —9}+sin (180+8)
cos 6 sin(-8)

(1) -l 2 1 3) -2 (4) 2

17.

18. If acos@+bsin@=p,asinf—hbcosf =g then

acos@+bsin@=p;asin@—bcosf =q ooni

1) & 8=p ¢ @ wri=p-g
() @+b=pi+g () a-¥=p+g
- — cmﬂ"i " 13sin@+5secl
19. If @ isinthe 4th quadrant = N e 15 cotect
0 TR cnsﬂ—i 13sin@+Ssecd s
g 45 A Besikn F0E) 13 Stan@+12cosecd
5 12 7 ‘
—— T e T d‘ T
(1) T (2) 03 (3) 75 @) 25
20. sin480°cos690° +cos780°sin1050° =
1
1y 1 2) 2 G) 3 W0

SPACE FOR ROUGH WORK / 0&508 Stranodalis Joko
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21.

22.

24.

25.

1-tan®15° _

[he value of T T

1-tan®15°

5 dud?

tantls oo
NE]
(1 1 @ 3 ® < @) 2
Cummulative frequencies are used to measure the
So08 PHEETD ad@rNoD Fob ol Yy Fod
(1) mean (2) mode
S To PO
(3) median (4) None
Soggrigsn 56 o

Median of the scores 47, 52, 57,62, 67,72,77,78 is
47, 52, 57, 62, 67, 72, 77, 78 v Hgdso.
(1) 62 (2) 67 (3) 645 4) 695
Find the missing value of p from the following table when AM 15 3.55
Bod Serodim @t wof HgfEosn 3.55 soxd p Jend =
il 2 | 3 e 5 6
f 18 9|l p| 16 9 | 8
(1y 10 2 9 (3) 16 4) 8
The mode of the frequency distribution given below is
& |Bob BER0¥ HOS W) PrETVEEED =
Class interval 30-39 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89 | 90-99
S50 modidm
Frequency 2 3 20 31 17 10 4
2 spifgiino
(I) 68 (2) 66.4 (3) 63.9 (4) 644

POLYCET-2014/2-C
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26.

27.

28.

29,

30.

If no value of an ungrouped data is repeated, then which of the following is not defined?

JHorPHsin 0 oSbEd Seodin @ —------- & AgDouBsw.
(1) mean (2) mode
i errotfEdn
(3) median (4) None
Sogfsridsn L

Ile!.:[1 2]&ndﬂ=[‘u q]a.ndd+ﬂ‘=ﬂlhen.r=
3 4 r s

A:[l 2],3:[‘” q]a:ﬁusu,i+3=ﬂms-
3 4 r s
(1) 4 2) -2 @) -l 4 -4

If A:[; i ; ) and X'is null matrix such that 4.X is defined, then which of the following can X

be?

4 5 6
(1) 0, (2) 0y (3) 0y 4) 0Oy

A:[l 2 3);&:-:_&5 Sobakn X Lo SH08 won AX S988 I5Dodeld X S08rmsy.

In a computer, the control unit is in

Boigos’ Dabold Derriswoth Derim.

(1)  inputunit (2) outputunit
asadS Derdim @358 Degrrisn

(3) central processing unit (4) memoryunit
ol Dol Derrsn S SEDH Derrdo

Which of the following is an output device?
& (Bod TRE eHSHE FSHE

(1) Keyboard (2) Printer
g &'y hotb
(3) Hardware (4) Software
5 35 >g 35

SPACE FOR ROUGH WORK / 008 BironoSalds oo
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L.

32,

33.

35.

Of the following, which is De Morgan's Law?
& (800 88 & g aryahin?

(1) pvg=qvp @ pv(gar)=(pva)r(pvr)
3) -(pve)=~prr~9q @4 pvp~p

If 4 = {multiples of 2}; B= {multiples of 3}, then A EB=
A = {2 g foderen}, B= {3 Gk oderen} wons ANB=7

(1) setofmultiples of 5 (2) setofmultiplesof9
5 @ty odery SO 9 oty rodere SInb
(3) setofmultiplesof4 (4) setofmultiples of6
4 AE) odere HB 6 g odero JDB
In an identity function
385 (PHhabins®
(1) domaincontains only one element (2) range has only one element
($E¥50 o8 Srolin EOA acthi Tt o8 Sroio EOA doiib
(3) domainand range have sameelements (4) None
$BY, ogge ed Lot EDA Ao 5D =

1
If f:R—{1} = R bedefined by f':":'{%:’”“" ’Fm”(;):

1
FIR-{1} 2R & f(I)=i—j%n- asoh ﬂIHI(;) Denss =
(1) 2x (2) 0 (3) -2x 4) =x

I+x 2x
If f(*r]-]ﬂg(l—_:‘_‘]ithgn f[m—]:
2x

(
ffx}:hﬂit_ﬂ' o f(ux‘ ] ~
() 2f(x) (2) 4 (3) Jx) @) 3 x)

The zeroes of a polynomial are—3, 2 then the polynomial is
Dd0Ns ¥ doden =3, 2 eond @ DIVSS,
(1) x*+x-6 2) x*-x-6 (3) x2+x+6 4 xX-x+6

SPAGE FOR ROUGH WORK / 0&308 Stronodnds Joiko
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37.

38.

39.

40.

41.

42.

If o and B are the roots of @@ + bt + ¢ =0), then afy? + o2 =
ﬂ'.alldﬂu: ﬂxj+bx+t'=ﬂ.tﬂﬂﬁ;w ﬂﬂ2+ﬂ1ﬁ=ﬂm&

ke ke . @ . G

(1) g (2) p (3) - 4) pr
HH'_H n

If 3; 5 then 9|~

n\ (n n

3)(7)%%® 9)~

(1y 7 (2) 3 (3) 10 (4) 45

If one root of px* + gx + r = 0 is three times the other, then 3¢ =

P+ gx + r=0 Gl el Sroln Bodd Srofndh e dhond 3g° =

(1Y 12pr (2) 18pr (3) l4pr (4) 16pr

One of the factors of x* + 8x —x -8 is

x*+ 8x? — x — 8 Gog) o8 sBerolisn =

(1) x-4 @) x-2 (3) x+8 4) x-8

[fa line divides a plane into two half planes H and i, then H nH, =

2.8 By ef Sodod H, H,, o5 Both of Sovenre EFE8, H NH, =

(1)  w(universal set) (2) H,NH,
H (D¥55:8)

(3) ¢ (empty set) (4) H+H,
¢ (ErisSand)

The pair of points which lie on either side of the line 5x +4y =20 is
Sx + dy = 20 B at3He dotd Dohije.
M LHE2 @ #3649 06 (1,D.60 (4)

(1, 1),(3,3)

SPACE FOR ROUGH WORK / 0&%28 SiranosSodi Jodn
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43. If2x+y 2 10,x+2y 2 10, then the minimum value of the objective function f=x + vis
2x+y 2 10, x+2y 2 10 ocns [=x + yod of Bhabin @ng €05 Deos

2 2 2
M 63 @ s @ 33 @ 3

44. The limiting position of a secant of acircle is

H8 3535 o o038 =

(1) radius (2) diameter
SvgAngn g

(3) point (4) tangent
Doty ;Eﬁﬂm

5 _
45. If <J,then

5
2x-1
5 EE,ﬂmﬁ
(1) 12<x<13 (2) =12<=x=13
(3) -13<x<12 (4y 13=x=12
. 1+243+...+n
lim =
-~ In®+5
(1) i (2 1 3 0 1
: ¥ 3 © @ 3
. 1 1
47. lfa"'=b =c and b* = ac, then :+*:=
) 1 1
a = b = ¢ Hdcko B = qe eond ;+:=
2
M y @ = @) 2 @ 3

SPACE FOR ROUGH WOREK / 983508 Btrovodonls Hedn
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48.

49.

51.

52.

V14 x4 2% =1

lim

=0 x
| 0
(1) - (2) 0 3 O (4) o
If | m n=1, then the value of + : + - =
mn=1,thenthe value ol 1= T Lman  L+n+i”
/ = | wons -+ : s l -
W 1+i4+m” 1+m+n" l+n+l
(1) © 2y 1 (3) I+m+n 4 Im+mn+nl
Il (64)" = 1 =242 ,then 3x + 4y =
[251‘3)}
(64) = 1—=2-JE wond Jx + 4y =
(256)
(1) 2 2 1 3 0 “4) -l
Ifl.l.iaﬁ:inﬁﬂ’mﬂn blc‘—ﬂlﬂ+ﬁ—b'ﬂ+b—¢ will form
abc a b c
l,ll e AP&* acd b+c—a‘c+n—b‘a+b~—c €0 mmmmmm=——m & sokman.
a b c a b c
() GP (2) AP (3) HP (4) None (26 =)

In an infinite GP first term is 10 and its sum is 30, then the common ratio is
sios @A Fvsd 5650 10 20 ekod Swro IsEkn 30 wond © @ dAnE) Sorord.

2 3 1
M 3 @ 3 s @ 3

SPACE FOR ROUGH WORK / 008 Stronoieds goso
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54.

55.

57.

The relation among AM, GM and HM is
AM, GM, HM o &g Somogisn

(1) A£=GH () G'=4H (3) H'=AG (4) AGH=

The 10" term of the series 3,3++/2,34+2J2, .....is

334234242, ...... FAE 105 B

(1) 3+9y2 2) 3+1042 3) 3442 @ 3 -2

If Y n=78, thenn=

2n='}'ﬂ sond n=
1y 12 (2) 13 - (3) 39 (4) 9

If all the terms of a GP are multiplied by a constant number, then the resulting series is in
GP & @oscR; o8 B8 Ko rododm Sy 33

() GPp (2) AP (3) HP (4) AGP
/

The concurrent point of the altitudes of tnangle is
(Bgoemsnstn o So bs Dol

(1) centroid (2) incenter

Koty Bosn woid i FoiSsm
(3) orthocenter (4) circumcenter

von Hose < 585 Bodsn

In atriangle ABC, £ZB=90°, BD LAC ifAD=4cm, AC=9cm, then AB=

ABC Behasns® ZB=90°, BD LAC, AD=4 cm, AC=9 cm sons AB=
(I) 9cm (2) 6Gecm (3) 3cm (4) 10cm

SPACE FOR ROUGH WORK / 08308 Bircmodenls odn
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59. TFrom the following figure the value of x 1s
(S5 S0 Dol X Dewd

15 .
F 17 B
(1) 6 (2) 8

60. Inacyclic quadrilateral ABCD, ZACB=30°,£BDC=35" ,then LABC =

B) 85 4 75

ABCD 38 smogesns® LZACBE=30", LBDC=35" wond LABC =

(1) 90° (2) 100° @) 115° (4) 65°

SPACE FOR ROUGH WORK / 04508 Stronododd Hoiin
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61.

62.

63.

64.

65.

SECTION - 11 : PHYSICS

A medium transmits a sound wave through it by virtue of its
o8 drSEsn 85 oo &0 Sborreid d0Sed (Sabrdod Fdmon.

(1) density (2) elasticity and inertia
Bagss ROPBES DO widyn
(3) elasticity only (4) inertiaonly
R0 THES SMED mto Smdd

If 10 cm and 30 cm are the first and second resonating lengths occurred in a resonance experiment,
then the wavelength of the sound wave is
eHd srdingodf (SArKos® Joss H8ckn Bodd eharorey SN 10 Do.dd HOdH 30 Do.d.

3§ DHEB, @ G doorf B
(1) 40cm (2) 20cm (3) 10cm (4) 300cm
40 To.2. 20 Do.d. 10 Do, 300 To.dn.

A three - dimensional photography in which lasers are employed is
a5 Bicrod ald@rhod ef (Hd&E Db PSrd

(1) radiography (2) holography
daa@ryrd ehmd

(3)  spectrography (4) photometry
SESOB eobh

Which among the following phenomenon reveals the transverse nature of light?
Bod 86 pob @wl) 658 dor Jwrard B0dhIdk §Htabdn

(1) Reflection (2) Interference
Soesgso _ H;b86mo
(3) Diffraction (4) Polarization
JSso &)dmo

Two points A and B are on the equatorial line of a short bar magnet at distances ‘d” and ‘34
respectively from its centre. The ratio of magnetic inductionsat Ato Bis

A 2B B & Both DooPew o8 0§ Somrdbdmpso Mol oo Hol i ‘d’ Heaww ‘34
Erdod® S vondyp damon. &P A Hban B 3§ echdps (Hise 8.

(1) 1:9 (2) 9:1 (3) 1:27 4) 27:1

SPACE FOR ROUGH WORK / 08508 Brcnosods goss
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66.

67.

68.

69,

The force ‘F’ between two magnetic poles is 36 N. If the distance between them is tripled, then the
force changesto

ot wabdmos Gyre 6 398 oo (F) 36 Soupp. o6 S5 trdo e By wovd, 83 peo?
(1) 108 N (2) 12N (3) 4N (4) 1 N

Fundamental unit of an electric curment is
ﬂtﬁ:gﬁ (Savro Dol aeganl |Sdrmo.

(1) Joule persecond (2) volt persecond
SR SS/pe

(3) farad per second (4) coulomb persecond
R 2B Surod/hadh

Three bulbs of 60 W, 40 W and 20 W work on 240 V supply. Among them, the bulb having higher
resistance is
60 W, 40 W moai 20 W 6003 S meges 240 V g 3¢ 30 Jandifd. Te6® e0sicso

EOAS oo

(I) 60W (2) 40W
60 W 40 W

(3) 20W (4) Three bulbs have equal resistance
20W St wopo 28%cren SdmSo

The resistance of a conductor is

a8 o Gng) M'%o wNls.
(1) directly proportional to its area of cross - section

SHEHE FeoEndd eDe'Emd Psos® aotvod.
(2) inversely proportional to its area of cross - section

DEHE Propodn I SrH>EE® dotuob.
(3) directly proportional to square of its area of cross - section

SEHE PeogEn Do) S0l 0 EHIEE doknod.

(4) inversely proportional to square of its area of cross - section
&S Beogin Aol 708 D ErHIE0s aoknod.

SPACE FOR ROUGH WORK / 0&:08 Stravodads fodn
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70.

71.

73.

4.

75.

Which radio isotope is used to detect a clot in the blood of a human body?
Sris% #8606 B0 KK 68 A% e oot AS@APKSD BAG sRFE'S

(1) 7iNa 2 $Co 3 '3l @ 33Si

The mass defect for He nucleus is 0.03 a.m.u. Its binding energy is

frbabo oo Ay Bere %50 0.03 am.u. o sogs ¥&
(1) 27.95MeV (2) 2795MeV (3) 13.97MeV 4) 311 MeV

Which among the following has no forbidden energy gap?
Bod =8¢° Dby 48 34 sosto ENB

(1)  Germanium (2) Silicon
&40d%o L0s8

(3) Silver (4) Wood
hes6 8

On increasing the temperature, the specific resistance of a semiconductor
SIS TON 7§ e sgardrto Qg 28y A0'EE0

(1) Increases (2) decreases
whiod ﬁrﬁﬁ}nﬂ

(3) remainssame (4) firstincreases and then decreases
SErES o DA, Sod SfEos.

Which among the following is a machine level language?
|Boss A8F LA abol@iran 5%

(1) BASIC (2) FORTRAN
gns e
(3) ASSEMBLER (49 COBOL
whogs E'ene
Frequency of a seconds pendulum is
Mebosioto Gng) BG.
(1) 0.1Hz (2) 05Hz (3) 1H=z (4) 2H=z

POLYCET-2014/2-C 15 (P.T.0.)
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76.

T,

78.

7.

al.

81.

The relative permability of vacuum is
Irdgo Ty G Léﬁ»ﬂa@uﬁ

(1) Zero (2) 1
fady .50

@ 410" H/m 4) 10"H/m
A% 10730 / & 107 2o / &

For constructive superposition, the phase difference betwen the two waves (ifn =0, 1, 2, 3,.)will
be |

KiatE werBiEno sbmecl, Bo SSorre B dod Seosto (1 =0, 1, 2, 3,.. wax8)

(1) 1 @ (3) 20n (4) 2[Un

The work done in moving 0.5 C of charge to a point is 2 J. The electric potential at that point is
0.5 C Dy 2. Dol 296 BHEHFS0S w8A% 50 2 1. sond & Dotsd 55 gk SBYHS

(1) 025V 2 1V @ 2.5V @ 4V
The reason for the stability of the nucleus is
Soss HBE0E o,
(1) presence of excess protons (2) presence of excess electrdrs
008 [Dtrioen dotht 858 doigiHem BoHb
size of protons and electrons (4) massdefect
Bty $Bdn ey SBEEmo Sy 8éiso

In a screw gauge, the screw travels through 2 mm in 4 rotations. The pitch of the screw is

2% [Eefadt Ko B8 4 @S mH 2 2.b. drdo Hairdiod. B o HE Gharossi.
(1) 8mm (2) 2mm (3) 1mm (4) 0.5mm
8 .8 2 &n.fn. 1 &b, 0.5 .5

|
The radius of a planet is Eﬂl of that of the earth and acceleration due to gravity is half that of the
earth. The ratio of mass of the planet to that of the earth is

l
g Hiro g aydgsn & dgod® 75 So mid LBuk» © Hifro P Kthdg &mo &b

fGdSGnos® Sromir ach. D @ firo B0 grde (Biorbe NS,
(1) 1:32 2). 323 (3) 1:8 4 8:1

SPACE FOR ROUGH WORK / D508 Beravosads Joiy
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84.

85.

The law which helps in the determination of the weight of an object is
B0 5 dcbibsn ol SHH @G o psosios’ S BB,

(1) Kepler'slaws (2) Pascal’slaw
830 Dabdiren arepd Adbio

(3) Hooke'slaw @) Baoyle’s law
E Dabdeo prond Aabao

A body is thrown vertically up from the ground with a velocity of 9.8 m/s. The time for which the
body remains in airis
¥ S0 LD ol 9.8 H/d o8 D Deohre b D56 I, wd DS actd Mo Swo
(1 1s 2 2s (3) 9.8s 4 19.6s

1% 2% 9.8 2. 19.6 W

A body is allowed to fall freely from a hegith of 490 m above the gorund. The time taken to reach
the ground is

0¥ 390 gD Sol 490 & %S I Bobs S0den. 8 DY T Sty HBabo.
(1) 10s (2) 20s (3) 50s (4) 100s
10 w. 20 D, 60 2. 100 2.

A bucket full of water is whirled in a vertical circle. The water does not come out from the bucket.
This 1s due to '
Botore HAD EDA 4%y e oifH Hmes Sedost Dl B ©0HED B BodH ILE
2SRl slmo
(1) Weight of water is equal to centripetal force
M grddn SHooin wffol poin Sdrdo e,
(2) Weight of water is equal to centrifugal force
N8 grddn SHbch eSlofocin Sdrde ik
(3) Weight of water is less than centripetal force
A8 erdin wiiog peo Eam Sips wiko.
(4) Weight of water is less than centrifugal force

SPACE FOR ROUGH WORK / 0308 3tronodadsd Foio
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86. A body is moving with a velocity of 10 m/s in a circular path of radius of 0.2 m. Its centripetal

acceleration is

2X 559 10 H/n K8 0.2 I ogdigo Ko Hursd Srgod® Med’ ach. ol el Ebnin

(1) 20m/s? (2) 50m/s?
20 &ofn’ 50 an/m*

(3) 250 m/s? (4) 500m/s?
260 &o/™’ 500 fo/»*

87. The time period of asimple pendulum s
B oind’uso ) eddd soim, TR
(1) independenet ofits length
DED P WPESES
(2) directly proportional to its length
PEHD wHsiird ddcs® dotuod
(3) directly proportional to square root of its length
BEG @nk) SPSredl ©H'EnSrEos” dotnod
(4) inversely proportional to its length
ErES DESrd Sdod® doknob.

88. The resistance of a 500 m long copper wire of radius 1 mm and specific resistance

3.14 x 10*Q-mis

500 & e, 1 .. agdrgo vk 3.14 x 10°0Q . 28y AB'Ysn EOA &) of =38 b

a6t gD,
() 178 2) 3.14Q (3) &5

89. The device which converts mechanical energy into electrical energy is

Bod S airo(BE 480 g8 YWre Srry s

(1) transformer % dynamo
eS8 geas

(3) electric motor (4) calonmeter
D8 Brers - 26t Dod

90. The rays which are used to take photographs of an object in darkness are

HEAS 8 S Ao PEfod Banbd A43ARNSD oo

(1) wvisiblerays (2) X-rays
wéﬁﬁ sol &8tmen X = Brroeen

@) infrared rays (4) microwaves
Sordore A0cw L|s* sSorren

4) 850
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SECTION - III : CHEMISTRY
91. The order of electronegativity values of C, O, F is

C, O, F o awg) swadiyerds o
(1) C>0>F (2) C>0<F (3 C=0=F 4 C<O<F

92. 'Which one of the following is not alkaline earth metal?
Bob o6 gEiBE dn R0,
(1) Sr (2) Ca (3) Ba (4) Ge

93. Theelectronic configuration of Ca** ion is
Ca™ wdirdH @oE) Joigess Dargiso,
(1) I1s'25'2p°3s*3p° (2) Is*2s2p*3s*3pids?
(3) 1s26%2p* (4) 1s72522pf3573pi4sg!

94. Magnesium bums in air to give

Dighato mDE* Dol ------- H DD,

(I) OnlyMgO - (2) OnlyMgN,
Bdwo MO Bdwo Mg,N,

(3) Only MgSO, (4) MgOand MgN,
sswo MgSO0, MgO eam Mg N,

95. 100 ml of water is added to 100 ml of 0.1 M NaOH solution. The molarity of diluted solution is
100 206 0.1 M NaOH (odmiins® 100 obbog H82 50b3qyts d5E obs (e Tnensd
(n o0I1M (2 025M (3) 005M (4) 02M
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96.

97.

98.

99,

100,

101.

Which of the following is the weak electrolyte?

808 DS mules Dhgl D,

(1) NaCl (2) KCl
(3) CH,COOH (4) NaOH

The number of moles of H,O present in 108 grams of water is
108 prive A86° Ko N8 dol) Arde Soxg
(h 3 2 4 * (3 3 4 6

Which one of the following is a basic oxide?

2o R i eB)E

Which one of the following is weak acid?

Bod 06* poird e

(1) CH,COOH (2) H,S50,
(3) HC (4) HNO,

One mole of HCI solution is neutralized with one mole of NaOH solution. Then the heat of
neutralization of this reaction in k cal / mole is

«& a8 HCl & ar& NaOIl % BuREe0Ds SGE* Dot Suhste ofse 88 wull / ards
(1 137 (2) 187 (3) 157 4) 134

The shape in which carbon atoms are arranged in diamond 15
Jeind® sfibw wHoHol w§d

(1) square planar (2) tetrahedral
SO Sddvo Sétybabo

(3)  trigonal planer (4) linear
Lﬁﬁ‘ﬁdﬁ Rindeo Bhasoo
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102.

103.

104.

105.

106,

Al C, on hydrolysis gives
AlC, % woddin S8 —---- Do

()

)

methane (2)
his
ethylene 4)
Tty

ethane
555
acetylene
B80S

Carbon can form a large number of compounds becauses of
iy whE ﬁnm&‘ Sodmr a‘:m:g:::.‘n A EHDHLD s

()

(3)

catenation (2)

S RaS
formation of multiple bonds
ndmnoro DEEIDL

(4)

The formula of chloroformis
ge'rS Foye

(1)

CH,CI () CHCL 3)

Alkenes and alkynes are
sbifoe, efboe 055D

(1

@)

1sobars

effenBen

saturated hydrocarbons
Sody TE'TGR

(2)

“)

o
%
Al
DRy

@ cal,

CHCl,

unsaturated hydrocarbons
wiofyd TSR

None
o8 e

The red precipitate formed when glucose is treated with Benedict solution is
12585 DALY [Snind EDDIGHG DEE KO wsEsdn.

(1)

Cu (2) CuO (3)

Cu,0 (4) CuSO,
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I ﬂ?.

108,

109,

110.

111.

Enzyme that breaks down sucrose to glucose and fructose is

oSS MpE'S Hod PP EFE oS

(1) invertase (2) maltase
aSShe S

(3) zymase (4) diastase
gdbd cairyd

The amino acids which cannot be synthesized in the body but must be supplied through diet are
B St FEDD Hodh pYBorr BB o EHEBubS DT i

essential amion acids
w8 oD o
acidic amino acids
e oDT wo

(1)

(3)

The formula of glycerol is

fuced Pedyer
(1) CH,COOH
(3) CH,OH-CHOH-CH,OH

The glas blowing is possible with

% fonolf @b ==--- & gEurbie
(1) sodaglass

o ey

quartz glass

“’éﬂ"‘ e

(3)

Bohr's theory is not applicable to
&5 Sodmen S A08 SBos.

(1) H (2) He'

2

(4)

(2)
(4)

(2)

(4)

3)

non - cssential amino acids
sl oD wipo
basic amino acids

8 oD wio

COOH - COOH
CH,OH — CH,0H

borosilicate
&5 noden reew
hard glass

Li 4) Be
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112. Inan atom when electron jumps from K shell to L shell
SE5rmpe* dogd K 85 S0l L gt sress’

(1) energyisabsorbed (2) energyisemitted
(3) nochangeinenergy (4) dependsonatom
4,3;5‘ Srty Yot StSral P egriSDD

113. Impossible set of quantum numbers for any electron of an atom is
SEEFmHS' O o) Jogdd doff E5) oo Sogy Sdedrd.
(1) n=2Il=1m=0,s =+% (2) u=2,£=2.m=-1,.5=—-;-

(3 n=3‘l=2.m=+l.s=+é— (4) n=3.!——-u,m-—'ﬂ..':=-%

114. The atomic number of element with minimum number of unpaired electrons is
2ot dugibeid e Soggd® Mo Swrely HSSFm Hosg
(1 22 2 24 (3) 26 @) 29

115. The number of electrons ransferred during the formation of MgO is

MgO deyossqts wab edy doigss Soss
(1 1 @ 2 3 3 4 4

116. Which types of bond present in H,0*?
H,0" & $o wof oo
(1) [lonic
edi=DE
(2) Covalent
N Arandh
(3) Covalent and coordinate covalent
SHIradcd Hod Sk SHdrulad
(4) lonicand covalent
edird Hoa FHHdraesdd
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117. Whichone of the following is nonlinear?

118,

119,

120.

Bhairgyt 80 v

(1) Co, (2) H,0 HCN

Eca aluminium is known as

J5 weDdabo ©iSS0

(1} scandium gallium
Fmpddbo Do

(3) permanium boron
F80dho &8

The element with atomic number 11belongs to

11 Sddren Soxg fo Drofds —------—- % JodHs.

(1) 3rd group, I period
3rd gt=3, 11 S0058
(3) 1stgroup, III period
15t e, 111 H8cHE

lonization potential in a group from top to bottom
¥ 36 walits 5o p ol Bod SYIYPD

(1) increases

ok

(3) initially decreases and then increases

b 8 S550 THNLD

2nd group, Il period
2nd (003, 11 8058

2nd group, Il period
2nd (fi=sp, 111 H800E

remains same

Posum Aot

decreases

(4)

BeF.
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